QTS OM-serie

QUARTER-TURN ELECTRIC ACTUATOR

IMPORTANT NOTICES & MAINTENANCE

Make sure if the voltage is correct before wiring.

Power off before distribution or for maintenance purpose.

Lock tight the casting and conduit entrance after power distribution to prevent
from dusting or water spoiling.

The angle of electric actuators must not be below the horizon or stands upside
down.

Avoid the zone of gas or any chemical agent that might be explosive.

When electric actuators need two sets of unit for simultaneously, please connect
with the individual cable.

Don’t install in the complete vacuum space directly.

The warranty period of our products is one year.

Actuators should be placed at clean and dry place for storage, and protected with
outer carton from being affected by great temperature difference or serious

vibration.

KlingerDanmark as, Nyager 12, DK2605 Broendby

Tel +45 43646611 Fax +45 43641142 Mail info@klinger.dk



& INDEX

TITLE PAGE
Specifications 1,2
Travel cam & limit switches adjustment 3,4
Travel cam & torque switches adjustment 5
Mechanical Stops 6
Potentiometer 7
Modulating control board 8,9,10
Trouble shooting 11
Lubrication, Notice & Storage 12
Parts for BM-2 13,14
Parts for OM-1 15,16
Parts for OM-A 17,18,19
Parts for OM-2~3 20,21,22
Parts for OM-4~6 23,2425
Parts for OM-7~8 26,27,28,29
Parts for OM-9~12 30,31,32,33
Abbreviation illustration 34
Wiring diagram for OM-1 & OM-A & OM-A-M 12V/24V DC 35
Wiring diagram for OM-1 & OM-A & OM-A-M 12V/24V AC 36
Wiring diagram for OM-1 & OM-A & OM-A-M 110V/220V AC 1-PH 30% duty cycle 37
Wiring diagram for OM-1 & OM-A & OM-A-M 110V/220V AC 1-PH 75% duty cycle 38
Wiring diagram for OM-2~OM-6 12V DC 39
Wiring diagram for OM-2~OM-12 24V DC 40
Wiring diagram for OM-2~0OM-6 12V AC 41
Wiring diagram for OM-2~OM-12 24V AC 42
Wiring diagram for BM-2, OM-2~0OM-12 110V/220V AC 1-PH 30% duty cycle 43
Wiring diagram for BM-2, OM-2~0OM-12 220V/380V/440V 3-PH 44
Wiring diagram for OM-1 & OM-A & OM-A-M 12V/24V DC / Modulating Service 45
Wiring diagram for OM-1 & OM-A & OM-A-M 12V/24V AC / Modulating Service 46
Wiring diagram for OM-1 & OM-A & OM-A-M 110V/220V AC 1-PH / Modulating Service 47
Wiring diagram for OM-2~OM-6 12V / 24V DC / Modulating Service 48
Wiring diagram for OM-2~0OM-12 24V DC / Modulating Service 49
Wiring diagram for OM-2~OM-6 12V/24V AC / Modulating Service 50
Wiring diagram for OM-2~0OM-12 24V AC / Modulating Service 51
Wiring diagram for OM-2~OM-8 110V/220V AC 1-PH / Moduiating Service 30% duty cycle 52
Wiring diagram for OM-2~0OM-8 110V/220V AC 1-PH / Modulating Service 75% duty cycle 53
Wiring diagram for OM-2~OM-8 110V/220V AC 1-PH / ON-OFF Service 75% duty cycle 54
Wiring diagram for OM-9~OM-12 110V AC 1-PH / Modulating Service 50% duty cycle 55
Wiring diagram for OM-9~OM-12 220V AC 1-PH / Modulating Service 50% duty cycle 56




Wiring diagram for OM-2~OM-12 110V AC 1-PH / ON-OFF Service 50% duty cycle 57
Wiring diagram for OM-9~OM-12 220V AC 1-PH / ON-OFF Service 50% duty cycle 58
Wiring diagram for OM-2~OM-12 110V/220V AC 1-PH / ON-OFF Service / Local/Remote 59
Selection Switch
Wiring diagram for OM-2~OM-8 110V/220V AC 1-PH / Modulating Service / Local/Remote 60
Selection Switch
Wiring diagram for OM-2~OM-8 110V/220V AC 1-PH / Modulating Service / Local/Remote 61
Selection Switch 75% duty cycle
Wiring diagram for OM-9~OM-12 110V AC 1-PH / Modulating Service / Local/Remote 62
Selection Switch
Wiring diagram for OM-9~OM-12 220V AC 1-PH / Modulating Service / Local/Remote 63
Selection Switch
Wiring diagram for OM-2~OM-12 110V/220V AC 1-PH / ON-OFF Service / Local/Remote 64
Selection Switch / 4-20mA Quiput Signal
Wiring diagram for OM-2~OM-12 220V/380V/440V 3-PH / ON-OFF Service / 65
Local/Remote Selection Switch

- |Wiring diagram for OM-2~0OM-12 220V/380V/440V 3-PH / Modulating Service 66
Wiring diagram for OM-2~0OM-12 220V/380V/440V 3-PH / ON-OFF Service / 67
Local/Remote Selection Switch / 4-20mA Output Signal 30% duty cycle
Wiring diagram for OM-1 & OM-A & OM-A-M 110V/220V AC 1-PH / 4-20mA Output Signal 68
Wiring diagram for OM-2~0OM-12 110V/220V AC 1-PH / 4-20mA Output Signal 69
Wiring diagram for BM-2, OM-2~OM-12 220V/380V/440V 3-PH / 4-20mA Qutput Signal 70
Wiring diagram for OM-1~OM-12, BM-2 & OM-A & OM-A-M 110V/220V Same Switch 1

Coupling Wiring




¢ SPECIFICATIONS

[12V [ 24V]
Model | Max Torque | Speed | Motor Motor Speed 12V DC/ AC 24V DCIAC
No. {(Nm) (90%) |Power| 12V 24V Run | Start | Lock | Run Start | Lock
BM-2 - - - - - - - - . - -
OM-A 50 20s | 10W | 3600/min | 3600/min | 0.5A | 3.0A | 3.0A | O7A | 08A | 14A
OM-A-M 50 20s | 10 W | 3600/min { 3600/min { 0.5A | 3.0A | 3.0A | 0.7A | 08A | 14A
OM-1 35 15s | 10W | 36800/min ; 3600/min | 0.5A | 3.0A | 3.0A; 06A | 0.8A | 14A
OoM-2 90 1568 | 70 W | 1800/min | 1800/min | 3.4A | 5.0A | 8.5A | 3.0A | 5.0A | 13.0A
OM-3 150 22s | 70W | 1800/min | 1800/min | 3.4A | 5.0A | 85A  3.0A | 5.0A | 13.0A
OM-4 400 165 | 180W | 1800/min { 1800/min |12.0A| 8.5A {30.0A] 6.0A | 8.0A | 30.0A
OM-5 500 22s | 180W | 1800/min | 1800/min |13.0A| 8.5A |30.0A! 6.5A | 8.0A | 30.0A
OM-6 650 28s | 180W | 1800/min | 1800/min |14.0A| 8.5A |30.0A} 7.5A | 8.0A | 30.0A
OM-7 1000 46s | 220W 1800/min 7.0A | 8.0A | 30.0A
OM-8 1500 46s | 220W 1800/min 7.5A | 8.0A | 30.0A
OM-9 2000 58s | 220W 1800/min 7.0A | 8.0A | 30.0A
OM-10 2500 58s | 220W 1800/min 7.5A | 8.0A | 30.0A
OM-11 3000 58s | 250W 1800/min 10.0A | 10.0A | 26.0A
OM-12 3500 58s | 300W 1800/min 15.0A | 15.0A | 26.0A
[ Single-Phase}
Model Max Speed (90°) Motor Motor Speed 110V Current 220V-240V Current
No. T::;:e 60 Hz |50 Hz | Power | 60 Hz 50 Hz Run | Start | Lock | Run ; Start | Lock
BM-2 120 8s | 10s | 40W |1720/min| 1450/min | 1.3A | 3.0A | 1.8A | 0.5A | 1.5A | 0.9A
OM-A 50 20s i 24s | 10W | 3600/min| 3000/min | 0.5A | 1.5A | 0.6A | 0.3A | 1.0A | 0.5A
OM-A-M 50 20s | 24s | 1OW |3600/min| 3000/min | 0.5A | 1.5A | 0.6A | 0.3A | 1.0A | 0.5A
OM-1 35 12s | 13s | 10W |3800/min; 3000/min | 0.5A | 1.5A | 0.6A | 0.3A | 1.0A | 0.5A
OMm-2 20 168 | 17s | 40W {1720/min; 1450/min | 1.0A | 3.0A | 1.8A | 0.5A | 1.5A | 0.9A
OM-3 150 22s | 26s i 40W |1720/min;i 1450/min | 1.0A | 3.0A | 1.8A | 0.5A | 1.5A | 0.9A
OM-4 400 16s | 18s | 120W | 1720/min| 1420/min | 1.3A | 3.1A | 3.6A | 0.6A | 1.5A | 1.8A
OM-5 500 22s | 25s | 120W {1720/min | 1450/min | 1.5A | 3.0A | 3.6A | 0.7A | 1.6A | 1.8A
OM-6 650 28s | 31s | 120W |1720/min | 1450/min | 1.8A | 3.0A | 3.6A | 0.8A | 1.5A | 1.8A
OM-7 1000 46s | 55s | 180W |1720/min | 1450/min | 3.2A [12.0A|10.0A| 1.6A | 4.0A | 4.0A
OM-8 1500 46s | 5hs | 220W |1720/min | 1450/min | 4.0A [14.0A|10.0A| 2.0A | 3.6A | 5.0A
OM-9 2000 58s | 70s | 180W |1720/min| 1450/min | 3.2A |[12.0A| 6.0A | 1.6A | 5.0A | 4.0A
OM-10 2500 58s | 70s | 220W |1720/min| 1450/min | 4.0A [12.0A| 6.0A | 2.0A | 4.0A | 3.0A
OM-11 3000 658s | 708 | 250W | 1720/min| 1450/min | 3.0A |10.0A| 5.0A | 1.6A | 4.0A | 3.0A
om-12 3500 58s | 70s | 300W |1720/min| 1420/min | 4.0A {14.0A| 5.0A | 2.2A | 4.0A | 3.0A
OM-13 4500 80s | 95s | 300W | 1720/min| 1420/min | 3.5A  58A | 8.0A | 1.8A | 2.8A | 5.0A

Note: RUN-operating ; START-start to operate ; LOCK-When you input the power supply to the
actuator, the actuator can’t operate.

1/71




¢ SPECIFICATIONS (continued)

[Three-Phase]

Model |Max Torque! Speed (90°) Motor; Motor Speed 220V Current | 380V Current | 440V Current
No. (Nm) | GoHz | 50Hz [POWerl GoHz | 50Hz |Run|Start|Lock Run StartLock|Run|StartiLock
BM-2 120 8s | 10s | 40W |1720/min|1450/min|0.6A|1.8A|1.1A|0.3A] 1.0A| 0.7A|0.4A{ 1.3A| 0.7A
oM1| - |} - | -1 -1 - | - 1-t-<1-1-A-1-1-1-7-
omA|l - | - | - -1 - < ‘b1 -q-0-0-1-1-1-+
oM-AM - | - - -] - 0 o~ | -0« ]-d-|-1-1-1-1-
OM-2 90 158 | 17 s | 40w |1720/mini1450/min|o 6AI1.8A| 1.1A|0.3A| 1.0Al 0.7A[0.4A| 1.3A|0.7A
OM-3 150 225 | 265 | 40W [1720/mini1450/min|0.6A(1.8A[1.1A|0.3A! 1.0A] 0.7A [0.4A| 1.3A|0.7A
OM-4 400 165 | 18 s | 120W|1720/min|1450/min|q 0A|3.0A|3.5A|0.7A| 2.2A1 2.0A|0.8A| 2.5A| 2.0A
OM-5 500 225 | 25s | 120w |1720/min|1450/mini1 0A|3.0A|3.5A(0.7A| 2.2A] 2.0A {0.8A 2.5A| 2.0A
OM-6 650 28's | 31s | 120w [1720/min(1450/min|1 0A|3.0A|3.5A(0.7A|2.2A | 2.0A|0.8A| 2.5A| 2.0A
OM-7 1000 46s | 55 | 180W |1720/min{1450/min|0.6A|0.8A1 1.8A |0.4A|0.6A| 1.0A [0.4A/0.6A|1.0A
OM-8 1500 46s | 55s |220W|1720/min|1450/min|p 8A| 1.0A | 2.8A10.6A|0.8A| 1.6A|0.6A]0.8A[1.2A
OM-9 2000 58s | 70's | 180w |1720/min|1450/min|0.4A|0.6A]2.0A|0.4A!0.6A| 1.0A|0.4A|0.6A | 1.0A
OM-10 | 2500 58 s | 70 s | 220w |1720/min|1450/min|0 8A| 1.0A[1.5A10.4A 0.6A| 1.0A|0.4A|0.6A | 1.0A
OM-11 3000 58 s | 70's | 250w |1720/min|1450/mini1 24| 1.2A|3.0A|0.6A]0.8A| 1.5A|0.6A0.8A1 1.5A
OM-12 | 3500 58s | 70 s | 300w |1720/min|1450/minj1 2A11.4A| 2.5A|0.6A|0.8A | 1.5A|0.6A|0.8A| 1.5A
OM-13| 4500 80s | 955 | 300w |1720/mini1450/min|1,0A{1.4A|3.8A [0.5A|0.8A|2.4A [0.5A]0.8A1 2.3A

Note: RUN-operating ; START-start to operate ; LOCK-When you input the power supply to the
actuator, the actuator can’t operate.

2071




¢ TRAVEL CAM & LIMIT SWITCHES ADJUSTMENT

The travel cams are set to control the open and closed position of the valve.
LS1 & .82 limit the maximum range by disabling the electric motor.

.83 & LS4 are optional. They allow external equipment to confirm that the
valve has reached the fully open and fully closed positions.

IMPORTANT: If LS3 & LS4 are fitted, they should be set to operate before LS1
& LS2 prevent further travel.

A 2.5mm Hex Spanner will be required to adjust cam settings.

Adjust Travel Cam
(OM-1)

(0O

L84 “. "LS4" Synchronous turn with LS52({Option)

LS3 ‘ l ".83" Synchronous turn with LS1{Option}

@ Q Clockwise :Decrease closed degree.

P ] "CLOSE"

LS2 .I Counter-clockwise:increase closed
degree to fully close.

. Clockwise:lncrease opening degree
@f{ Q to fully open.
LS1 "OPEN"
b Counter-clockwise:Deccrease opening
degree .

3171



& TRAVEL CAM & LIMIT SWITCHES ADJUSTMENT

» Adjust Travel Cam

(OM-A)

“L84" Synchronous turn with LS2({Option)

4 ".83" Synchronous tum with LS1(Option)

Clockwise :increase closed
\D degres to fully close.
"CLOSE"

Counter-clockwise:Decrease
closed degree,

Clockwise:Decrease opening
Q degree .
HOPEN“

=~ Counter-clockwise:Increase
opening degree to fully open.

Adjust Travel Cam
(BM-2) (OM-2~12)

LS

=~

@ "LS4" Synchronous turn with LS2(Option)
@
L83 @ "L83" Synchronous turn with 1.51(Option)
@

LS4 Q Clockwise :Decrease closed degree.

=) = (S
LS3 @ L8 "CLOSE! Counter-clockwise:lncrease closed
@
@

degree fo fully close.
Ls2

LS4 Q Clockwise:lncrease opening degree

to filly open.

Counter-clockwise:Decrease opening
degree .

LS1 @ "OPEN"
©

4171



& TRAVEL CAM & TORQUE SWITCHES ADJUSTMENT

Adjust Travel Cam
(OM-2~0OM-8)

&~, Counter-clockwise:Decrease the degree
52 D of torque sefting.
"CLOSE"
Clockwise :Increase the degree of
torque setting.

Q Counter-clockwise:Decrease the degree

TS1 of torque setting.

OPEN" Clockwise :Increase the degree of

torque setting.

Adjust Travel Cam
(OM-9~OM-12)

Counter-clockwise:increase the degree
182 .
of torque setting.
"CLOSE"
Clockwise :Decrease the degree of
torque setting.

Clockwise :Increase the degree of
781 \Q forque setting.
IIOPENII

Counter-clockwise:Decrease the degree
of torque setting.

571



¢ MECHANICAL STOPS

Mechanical stops should only be reached during manual operation. They are
factory set, though in some cases adjustment may be required once a valve is fitted.

(1) For Electric Operation
Please refer to * Travel Cam & Limit Switches Adjustment “.

(2) For Manual Operation
1. Remove power from actuator.
Loosen locknut and unwind it a few turns.
Unwind grub-screw.
Manually turn the actuator to desire limit position.
Screw in the grub-screw until it reached the internal cam, then reverse one
cycle.
Tighten locknut.
7. Check that the electrical limit switches can still be reached.

o kWb

o

[OPEN] [CLOSE]

6/71



¢ POTENTIOMETER

Potentiometers turn with the output shaft to provide feedback for position
indication. Potentiometers that are intended to work with a medulating card
have different resistance values, and are connected to different terminals.

Potentiometer points 1, 2, 3 are wired to terminal blocks 5, 6, 7.
When a valve is closed:

56 — 1K Ohm.

6, 7 — OK Ohm.

When a valve is openead:

5,6 —» OK Ohm

6, 7 — 1K Ohm.

For modulating controllers, potentiometer points 1, 2, 3 are wired to terminal
blocks 8, 9, 10.

When a valve is closed:

8, 9 —>» 5K Ohm.

9,10 —» 0K Ohm.

When a valve is opened:

8,9 — 0K Ohm

9,10 —» 5K Chm.

* Remark: OM-A is opposite. (i.e. 1,2,3 wired to 7,6,5; 1,2,3 wired to 10,9,8)

771



¢ MODULATING CONTROL BOARD : Interface

Modulating Control Board for OM2~12

Terminal Block
H Green Lamp (Open indicator) @ A
H Red Lamp (Closed Indicator) D B
D1l »
| ozl §
A (25 £
2 ot
| 6 o
(Closed angle adjuster) EB 7 tg
@ 8 E‘-_.
VR1 (Open sngle scjusten I:\f Yellow Lamp(Power light ) @ 9 3
755452 Dlp Swich plesse Rl
refar to page 9 for @ 11
HHEORE0H| == Sz
oN
Modulating Control Board for OM1,0MA
S1~858
Dip Switch please Sensitivity Switch
ATS refer to page 9 for ;e;“f";g}:m"""

weJbeip Bulim sag



4 MODULATING CONTROL BOARD

* Input Signal
4~20mA ——>
1~5V DC
2~10V DC

*Output Signal
4~20mA

&

SUN YR

Control Volume

2~10VDC <

Comparison Control Part Control Object | Valve 90
Part Driving Part > Driving Part 2
A
270°VR §_
(5K Ohm)
Feedback Signal |«

YAttention: TURN POWER OFF BEFORE CHANGING THE FOLLOWING SETTINGS:

DIP-SWITCH SETTING
IMPORTANT: Do not alter switch positions while actuator is turned on.

8 7 6 5 4 3 2 1
ON OFF OFF OFF ON OFF OFF ON |Factory setting
OFF ON [4-20mA input
OFE OFF |1-5V input
ON OFF |2-10V input
OFF ON OFF [4-20mA output
ON OFE ON [2-10V output
OFF |20mA/ 5V / 10V means valve fully-open
ON |20mA/5V / 10V means valve fully-closed
ON OFF |Close valve if input signal disconnected
OFE ON |Open valve if input signal disconnected

S1, 2: INPUT SIGNAL SELECT “4~20mA” set 1-ON / 2-OFF.
“1~5V ” set 1-OFF / 2-OFF.

“2~10V” set 1-OFF / 2-ON.

S3, 4, 5,: OUTPUT SIGNAL SELECT “2-10V” set 3-ON / 4-OFF / 5-ON.
“4-20mA” set 3-OFF / 4-ON / 5-OFF.

9/71




S6: Valve is fully-open when the input signal is 4mA, 2V or 1V and valve is fully-closed when
the input signal is 20mA, 10V or 5V, set 6-ON.

$7, 8: POSITION SELECT (When the feedback signal fails) “valve fully-closed” set 7-ON/
8-OFF ; “valve fully-open” set 7-OFF / 8-ON ; “valve stops” set 7-ON / 8-ON.

S6: Valve is fully-closed when the input signal is 4mA, 2V or 1V and valve is fully-open when
the input signal is 20mA, 10V or 5V, set 6-OFF.

S7, 8: POSITION SELECT (When the feedback signal fails) “valve fully-closed” set 7-OFF
8-ON ; “valve fully-open” set 7-ON / 8-OFF ; “valve stops” set 7-ON / 8-ON.

SW1~0: Sensitivity switch:-

When switch to “1”; Highest Sensitive and the 0~90 degree can be divided up to around 80
times movement.

When switch to “0": Lowest Sensitive and the 0~90 degree can be divided up to around 17
times movement.

The sensitivity decreases 7 times movement by sectors from SW1 to SW2, SW2 to SW3, SW3
to SW4 and so on.

3% Note: The standard factory presetting is 1, 4, 8 for ON and 2, 3, 5, 6, 7 for OFF.
Even if S6 is adjusted, the feedback signal will not change.

% SUPPLIED VOLTAGE: 24V DC/AC, 110V/220V AC 1-PH.
+ WORKING TEMPERATURE: -30°C ~ +65°C.
% THE PROCEDURE FOR ADJUSTING VR1 & VR2.

Calibration of actuator to input control signals:
l::__:>VR2 adjusts 4mA, 2V, 1V (Fully-closed).
VR1 adjusts 20mA, 10V, 5V (Fully-open).

Turn VRZ2 fully clockwise.

Set the device that supplies the input signal (4mA) to “fully-ciosed”.
Turn VR2 anticlockwise until the red LED comes on.

Turn VR1 fully anticlockwise.

Set the device that supplies the input signal (20mA) to “fully-open”.
Turn VR1 clockwise until the green LED comes on.

L

10/71



4 TROUBLE SHOOTING

Motor stops running

Any foreign objects in flow
stream?

Conditions Possibilities Solutions

1. Is the supplied power and {1. Checking by meter.

voltage correct? 2. If soreplace.
Motor does not operate 2. Any blisters on the 3. Remove motor to check.

capacitor?

3. Are the gear trains free?

1. Is power suppiy short 1. Check wiring.
circuited? 2. Check for obstructions.

Unable fo fully open/close

Loose/Misaligned cam?
2. Bent valve stem?

3. Mechanical stop
adjustment incorrect?

—

Adjust/Tighten using
spanner.

Replace valve stem.
Check position of stops.

Valve stops operating when
motor is running.

Gear worn out?

Sleeve adapter worn out
or broken?

Broken valve stem or
actuator transmission
shaft?

Replace gear.

Replace sleeve adapter.
Replace valve stem or
actuator transmission
shaft.

@Rl

Abnormal control for
operating two or more
actuators simultaneously.

. Controlling circuit
connects in fandem or
parallel?

. Please refer to the wiring
diagram.

IMotor overheats.

Is the voltage correct?

Is valve too tight to
operate?

High working frequency?
Is motor stem or bearing
binding?

Checking by meter.
Replace valve.

Check duty cycle.
Replace the binding parts.

Abnormal on/off angle on
3-phase voltage.

1. Wrong phase wiring?

1. Change phase wiring.

Occasional on/off actuator
failure.

1. Simultaneous input power
on/off.

1. Check if the selection
switch is normal.

Vibrafion when valve is
closed.

1. Motor brake spring fatigued
or Teflon worn?

1. Replace spring or Teflon.

11/71




¢ LUBRICATION

The gearbox of the SUN YEH actuator is enclosed, and it has already been
lubricated sufficiently with high temperature lubricant at the factory sufficient
for use for up to two years.

¢ IMPORTANT NOTICES & MAINTENANCE

* Notices:

. Make sure the voltage is correct before wiring.

Turn off before power for maintenance purposes.

Seal the casing and conduit entrance after wiring to prevent dusting or
water contamination.

The angle of electric actuator installation must between 0~180 degree. Do
not install upside down or below the horizontal.

Do not install when hazardous or explosive gases may be present.

The frequency of open and close is restricted to every 5 minutes. Avoid
too high frequency.

When more than one electric actuator needs to operate simultaneously,
please connect with the individual cables.

Please connect the ground wire fo PE inside the electric actuator.

The warranty period of our product is for one year.

* Storage:

1.

The actuator should be placed in a clean and dry place, and protected from
the weather and extreme vibration,

If actuator needs be stored outside, it must be protected from excess
moisture, dust, and weather.

12/71






SUN YEH ELECTRICAL IND. CO,, LTD.
BM-2 Parts L.ist

Ref. No. Part Name Size | Q'ty JRef. No. Part Name Size | Qy
1 Screw M3*6 3 45 [Fender 1
2  |Fixed Seat 1 46 |Bearing 6202 1
3 |Position Indicator 1 47 |Thrust Key (Both Round) M5*10 | 1
4 [Top Cover 1 48 |Drive Shaft 1
5 [Screw M5*12 4 49 |4th Gear 1
6 |Screw M4*8 2 50 |Lock Ring (C Type) 815 1
7 |Fixed Seat 1 51  |Spacer 4
8  |Limit Switch V-105-1A5 2 52 |Bearing 6003 1
9 |Screw M3*10 3
10  [Terminal Block 6P 1
11 |Terminal Biock Bush 1
12 {Screw M4*6 2
13  {Brake Spring Cover 1
14 |Brake Spring 4
15  [Motor Brake (PTEF) 4
16 |Screw M4*80 4
17  [Motor 220V 1
18  |Screw M4*6 1
19 |Screw M4*8 2
20 |Position Indicator Plate 1
21 |Indicator i

22 |Condenser SMFD/U ] 1
23  |Screw M4*6 1
24  §Travel Cam 2
25 |Screw M5*5 2
26 JO-Ring G140 1
27  |Screw MB*50 4
28 [Fixed Plate 1
29 [Shaft 3
30 |1st Gear 1
31 |2nd Gear i
32 |Thrust Key {Both Round) M3*7 1
33 |Lock Ring (C Type) 510 1
34  ]2nd Gear 1
35 |3rd Gear M3*7 1
36 [Thrust Key (Both Round) 1
37  |4th Gear M3*7 1
38 |Thrust Key (Both Round) 1
39  |3rd Gear 1
40  |Gear Pad 1
41 |Fixed Plate 1
42 |Shaft 3
43 |Bearing 4020F 1
44 1Base 1

14/71







SUN YEH ELECTRICAL IND. CO., LTD.
OM-1 Parts List

Ref. No. Part Name Size | Q'ty]Ref. No. Part Name Size |Qly
1 Screw M3*4 3 44 {0O-Ring 585 1
2 |Fixed Seat 1 45 |Base 1
3  |Window Protection Cover i 46 |O-Ring 10%20*5 | 1
4 Window i 47 |O-Ring 23*28*5 1 1
5 |Top Cover 1
6 |Screw M55 | 4
7 [Molor 110V 3
8 |Screw M3*6 1
9 |Condenser 4.5MFD/AY 1
10 |Fixed Seat 1
11 |Screw M4*8 3
12 |Fixed Seat 1
13 |Terminal Block &P 1
14 |Fixed Seat 1
15  |Screw M2.3*18) 2
16 [Limit Switch 2
17 H.imit Switch Mat 1
18 |Travel Cam 2
19  |Screw M5*5 2
20 |Screw M3*10 | 4
21 {Shaft Smali 3
22 |Shaft Large 3
23  |Fixed Column 3*258 | 2
24  |Spacer Short 1
25 |1st Gear 2
26 |3rd Gear 1
27  |Spacer Medium | 1
28  |5th Gear 1
20 {Thrust Key (Globule) 3
30 |4th Gear 1
31 |6th Gear 1
32 |4th Gear 1
33  [Spacer Large 1
34  IScrew M3*6 1
35 |Position Indicator i
36 |5th Gear 1
37 |Transmission Shaft 1
38 |6th Gear 1
39 [Thrust Key (Both Round) M5*8 1
40 |Bearing 2412F | 1
41  iBearing 1008 F | 1
42  |Screw 3
43 |Fixed Plate 1

16/71










SUN YEH ELECTRICAL IND. CO,, LTD.

OM-A Parts List

Ref. No. Part Name Size | Qty]Ref. No. Part Name Size 1Oy
1 _ [Screw M3 | 3 44 10-Ring 585 1
2 Fixed Seat 1 45 |[Base 1
3 _ |Window Protection Cover 1 46 __|O-Ring 10°20*5 1 1
4 |Window 1 47  10-Ring 23285 | 1
5 [Top Cover 1 48 |Bearing 1206 | 1
B Screw ME*15 | 4 49  |Gear 1
7 |Motor 110V 1 3 50 _|Bearing 3018 | 1
8 iScrew M35 1 51 |Bearing 606 1
g Condenser 4.5MFD/U] 1 52 |Gear Box i
10 |Fixed Seat 1 53 |Screw M&*40 | 2
11 |Screw M4's | 3 54 10-Ring 30°40*5 | 1
12 |Fixed Seat 1
13 |Terminal Block 8p 1
14 |Fixed Seal 1
15  |Screw M2.3*18| 2
16 |Limit Switch 2
17 {Limit Switch Mat 1
18 |Travel Cam 2
19 |Screw M5*5 2
20  |Screw M3*10 | 4
21  |Shaft Small 3
22 iShait Large 3
23 {Fixed Column 3258 | 2
24 |Spacer Short 1
25 |1st Gear 2
26 |3rd Gear 1
27 |Spacer Medium | 1
28 i5th Gear 1
29  [Thrust Key {Globule) 3
30 |4th Gear 1
31 |6th Gear 1
32 |4th Gear 1
33 |Spacer Large 1
34 iScrew M3*6 1
35 |Position indicator 1
36 |5th Gear 1
37 |Transmission Shaft 1
38 |6th Gear 1
30 Thrust Key (Both Round) M5*8 1
40 1Bearing 2412F | 1
41 |Bearing 1008 F | 1
42  |Screw 3
43 |Fixed Plate 1

19/71










SUN YEH ELECTRICAL IND. CO,, LTD.

OM-2~0OM-3 Parts List

Ref. No. Part Name Size | Q'ty]Ref. No. Part Name Size | Qty
i Screw M3*6 3 47  |Screw M4*6 1
2  |Fixed Seat 1 48 |Position Indicator 1
3  |Window Protection Cover 1 49 10-Ring P9 9
4 Window 1 50 |O-Ring AS258 ;¢ 1
5 Top Cover 1 51 |Bearing 4030F 1
8 Screw MB*20 1 52 |Bearing 1520F | 1
7 Screw M4*6 2 53 |Base 1
8 |Fixed Seat 1 54 {Worm Wheel 1
9 Limit Switch V105-1A15] 2 55 {O-Ring P14 1
10 |[Screw 1/8*1" 2 56 |O-Ring P34 i
11 |Terminal Block 1 57 |Fixed Saet 1
12  |Terminal Block Bush 6P 1 58 |Screw Me*16 | 1
13 |Screw M4*6 2 52 [Hand-Wheel 5" 1
14  |Brake Spring Cover 1 60 |Nut M10 2
15 |Brake Spring 4 61 [Nut 15*10%2 | 2
16 [Motor Brake (PTEF) 4 62 iScrew M10*35| 2
17  [Screw M4*80 4 63 {Oll Seal 40*50*8{ 1
18 |Motor 220V 1 64 |Thrust Key (Both Round) Ma*15 | 1
19 1Condenser 3MFD/U | 1 65 |Screw Me*25 | 4

20 |Travel Cam 2 66 |[Spacer Me*10 | 2
21  |Screw M5*5 2 67 |Limit Switch 2
22 |Screw M6*10 3 68 |Screw 1/8*2" 2
23 |Fixed Plate 4 69 {Travel Cam 2
24 |Bearing B00INR | 1 70 |Screw M5*5 2
25 [Thrust Key (Both Round) M3*7 1 71 |Lock Ring (E Type) E7 1
28 |Bearing 698z 1 72 |Washer 5/16 1
27 j1st Gear 1 73 |Transmission Shaft 1
28 |2nd Gear 1 74 iBushing 1
28 |Screw 3 75 [Worm Wheel 1
30 |Bearing 698z 1 76 |O-Ring AS132 | 1
31 |Fixed Plate 1 77 |Bushing 1
32 1Screw M4*80 3 78 |Bearing AS 1831} 1
33 |Lock Ring (C Type) 545 1 79 {Bearing AS1831| 1
34 |Bearing 1310 1 80 |Bearing AS 1831 1
35 |[Thrust Key M6&*8 1 81 {Spring 1025 B
36 |[2nd Gear 1 82 |Bearing AS 1831 1
37 |Shaft 1 83 |Bearing AS 18311 1
38 |Bearing 1310 1 84 |Bearing A51831, 1
39 |Bearing 6009 1 85 iBushing 4mm 1
40 |inner Gear 1 86 [Washer 1
41  |Bearing 68062z 2 87 |Nut M17*1.0| 1
42  |Planet Gear 1 88 |Fixed Seat 1
43  {Drive Shaft 1 89 |Screw Me*25 | 4
44 |Lock Ring (C Type) 530 1 90 {O-Ring P18 1
45 |Transmission Shaft 1

46 |Pin M4*36 1

22171










SUN YEH ELECTRICAL IND. CO.,, LTD.
OM-4~0OM-6 Parts List

Ref. No. Part Name Size | Q'tyRef. No. Part Name Size | Qty

1 Screw M3*6 3 46  |Transmission Shaft 1
2 iFixed Seat 1 47 [Pin 4*50 1
3  |Window Protection Cover 1 48  |Drive Shaft 1
4 |Window 1 49 |O-Ring P18 1
5 |Top Cover 1 50 [Bearing 6014 1
6 |Screw Me20 | 4 51 |O-Ring AS259 | 1
7 Screw M4*8 2 52 |Bearing 1820F | 1
8 Fixed Seat 1 53 |Base 1
9 Limit Switch 2 54  |Worm Wheel 1
10 {Screw M4*B i 55 |O-Ring P14 1
11 |Terminal Block 1 56 |O-Ring P34 1
12 |Terminal Block Bush 6P 1 57 |Fixed Seat 1
13 |Screw M4*6 2 58 |Hand-Wheel 8" i
14  [Brake Spring Cover 1 59 |Screw Me* 16 | 1
15  [Braks Spring 4 60  {Nut M10 2
16  iMotor Brake (PTEF) 4 61 |Nut 15*10%2 | 2
17 Motor 220V 1 62 |Screw M10*451 2
18 |Screw M5*15 | 4 83 |0Qil Seal 88*82*7 ¢ 1
19 |Condenser 6MGD/U | 1 64  |Thrust Key {(Both Round) 4*25 1
20 |Screw M4*8 1 65 |Screw M6*25 | 4
21 |Travel Cam 2 66 |Screw Ma*5 | 2
22  {Screw M5*5 2 67 |Travel Cam 2
23  |Screw Me*16 | 5 68 |Screw M55 2
24  |Fixed Plate 1 69 |Lock Ring (E Type) E7 1
25 |Bearing Copper | 1 70 |Washer 5/16 1
26 |Bearing 698z 2 71 Bearing 1
27  |ist Gear 1 72 |Fixed Seat 1
28  {Thrust Key (Both Round) M3*7 1 73 |Bearing 6*10 2
29 |2nd Gear i 74 |Worm Wheel 1
30 |Screw 3 75 |O-Ring AS 132 | 1
31 |Fixed Plate 1 76  |Bushing 1
32  |Screw M4*8 3 77 |Bearing AS2035 1 1
33 {Lock Ring (C Type) 560 1 78 |Bearing AS2035 1 1
34 |{Thrust Key 1 79 |Bearing AS2035 ] 1
35 |Bearing 6204 1 80 |Spring 8
36 |2nd Gear 1 81 |Bearing AS2035| 1
37 |Bearing 1 82 |Bearing AS2035| 1
38 |Bearing 2020 1 83 |Bearing AS20351{ 1
39 [Bearing 8012 NK| 1 84 |Bushing B6mm 1
40  linner Gear 1 85 {Washer 1
41 |Screw M4*6 1 86 |Nut 1
42 |Puosition indicator 1 87 |Fixed Seat 1
43 |Bearing 6909Z | 2 88 [O-Ring P20 1
44  {Planet Gear 1 89 |Screw MB*35 | 4
45 |Lock Ring (C Type) 545 1

25/71










SUN YEH ELECTRICAL IND. CO,, LTD.

OM-7~OM-8 Parts List

Ref. No. Part Name Size | Q'ty}Ref. No, Part Name Size | Qly
1 Screw M3*6 3 45 |Bearing 1
2 Fixed Seat 1 48 {Bearing 1010 1
3 Window Protection Cover 1 47 |Bearing 6012 NR| 1
4 Position Indicator 1 48  |inner Gear 1
5 Window 1 49  |Screw M4*6 1
<] Screw M6*20 4 50 |Position indicator 1
7 Screw M4 2 51 |Bearing 6009 1
8 Brake Spring Cover 1 52 |Planet Gear 1
9 Brake Spring 4 53 {Transmission Shaft 1
10  |Motor Brake (PTEF) 4 54 {Bearing 5009 1
11 Motor 220V i 55 jLock Ring (C Type) 545 1
12 |Screw M5*120 | 4 56 [Bearing 6206 1
13 |Condenser 350V, 1208 1 57 jDrive Shaft 1
14  |Fixed Seat 1 58 |Pin M4*50 1
15 {Screw M4*8 1 59 |0O-Ring AS259 | 1
16  |Screw M8*20 5 60 |Bearing 6013 1
17  |Fixed Plate 1 61 |Bearing 25*25 1
18 IFixed seat 1 62 |Nut Mm12 2
19 {Tenminal Block 6P 1 63 |Screw 2

20 |Screw M4+*8 1 64 (Screw M1270 | 2
21 |Limit Switch 2 65 |O-Ring P50A 1
22 |Fixed Seat 1 66 |Bearing 25*25 1
23  |Screw M4+*8 2 67 |Worm Wheel 1
24  [Screw M5*5 2 68 {Hand Wheel 1
25 Travel Cam 2 89 |Thrust Key (Both Round) MB*35 4
26 |Bearing 698 1 70  [Screw M8*20 1
27  |1st Gear 1 71 jFixed Seat 1
28  |Thrust Key {Both Round) M3'7 1 72 |Oil Seal 2535*5 | 1
29 {2nd Gear 1 73 |Screw M10%40 | 4
30 |Bearing 698 1 74 iBase 1
31 Bearing 698 1 75 {Qil Seal 65%00*12] 1
32 jLock Ring (C Type) 515 i 76  [Screw M4*15 2
33 |Thrust Key (Both Round) M5*120 1 77  ILimit Switch 2
34 |2nd Gear 1 78 |Fixed Seat i
35 {Bearing GOO2ZNR | 1 79 |Bearing ME*10 2
36 |{Screw 4 80 |Travel Cam 2
37 |Fixed Seat 1 81 {Screw M5*5 2
38 |Screw M4*12 4 82 |Lock Ring (E Type) £7 1
39  |3rd Gear 1 83 |[Washer 1
40  |Bearing B204 NR | 1 84 |[Screw M5*15 2
41 |Lock Ring (C Type) 540 1 85 |Fixed Seat 1
42  {3rd Gear 1 86 |Bearing 698 1
43 |Bearing 1010 1 87 |Bearing 698 1
44  |Thrust Key (Both Round) M8*12 1 88 |Drive Shaft 1

28/71




SUN YEH ELECTRICAL IND. CO., LTD.

OM-7~0OM-8 Parts List

Ref. No. Part Name Size | Qiy]Ref. No, Part Name Size | Qty
89 |Worm Wheel! 1
80 |Bearing 51205 1
91 |Spring 25*2.5 8
92 |Bearing 51205 1
93 |Bushing 51305 1
94  |Washer 1
95 [INut 1
96 |O-Ring GBO 1
97 |Fixed Seat 1
98 |Qil Seal 23357 | 1
9¢ |Lock Ring (C Type) 823 1
100  [Screw Miote0 | 4

2971










SUN YEH ELECTRICAL IND. CO., LTD.
OM-9~OM-12 Parts List

Ref. No. Part Name Size | Q'ty]Ref No. Part Name Size |Qty
1 Screw M3*6 3 45 |2nd Gear 1
2 Fixed Seat 1 46 |Bearing 1010 1
3 |Window Protection Cover 1 47  |Thrust Key (Both Round) 8*12 1
4  Window 1 48 |Bearing 1
5 [Top Cover 1 49 [Bearing 1010 1
6 |Screw Ma*25 4 50 |Bearing 6012 NR| 1
7 Motor 220V 1 51  |lnner Gear 1
8 |Screw M5*120 | 4 52 |[Bearing 5009 1
9  |Motor Brake (PTEF) 4 53 {Pianet Gear 1
10 |Brake Spring 4 54 |Bearing $009 1
11 |Brake Spring Cover 1 55 |Lock Ring {(C Type) S 45 1
12 |Screw M4*8 2 56 |Bearing 6206 1
13 [Screw M4*6 1 57 |(Gear 1
14 |Position indicator 58 |O-Ring G250 1
15 |Condenser 350V,12UF| 1 59 |Bearing 8211 1
16 1Screw M4*8 1 60 |Screw M5*5 1
17 {Fixed Seat 1 61 |[Gear 1
18 |[Screw M4*55 3 62 |Drive Shaft 1
19 |Fixed Seat 1 83 iPin 4*50 1
20 |Shaft 6*4.2*46 3 64 |Screw Mi2 45| 4
21 |Bearing SOOONR | 1 65 |Cover 1
22 |Bearing 1 66 |Bearing 2525 | 1
23 Gear 1 67 |O-Ring P50A 1
24 |Gear 1 68 |{Bearing 51305 | 1
25 IScrew M8*25 5 60 |[Base Seat 1
26 |Shafl 1 70 |Bearing 51305 | 1
27 |Fixed Plate 1 71 {Worm Wheel 1
28 |Travel Cam 2 72 |O-Ring P50A 1
29 {Screw M5'5 2 73 |Bearing 25*25 1
30 [Limit Switch 1 74  |Fixed Seat 1
31 |Screw M4*8 2 75 |Oil Seal 25°35*5 | 1
32 |Fixed Seat 1 76 |Hand Wheel 1
33 |Fixed Seat 1 77 {Thrust Key (Both Round) 635 1
34 |Screw M4*8 1 78 |Screw me*20 | 1
35 |Terminal Block 06:00PM | 1 79 |Screw M12*45 | 4
36 |Thrust Key 3*30 1 80 jNut M16 2
37 |Bealing B6002NR | 1 81 |Base 1
38 |ist Gear 1 82 |Screw 2
39 iBearing 6203 1 83 |Secrew M16*851 2
40 {Shaft 445mm | 3 84 |Bearing NKI30/20| 1
4%  [Fixed Seat 1 85 |[Shaft 1
42  [Screw M6*50 3 86 [Screw M16*40 | 2
43 |Bearing 6204 NR | 1 87 |Screw M16*30 | 2
44 |Lock Ring (C Type) S 40 1 88 |Bearing 6306 1

32/71




SUN YEH ELECTRICAL IND. CO., LTD.

OM-9~0OM-12 Parts List

Ref. No. Part Name Size | Q'ty]Rel. No. Part Name Size |Qty
89 |Bearing 1
80 [Bearing 6020 1
91 |O-Ring AS 258 1
92 |Base Seat 1
93 |Screw M12*45 8
94 |0il Seal 1007120*12] 1
95 |Screw M4*15 2
96  {Limit Switch 2
97 |Fixed Seat 1
98 [Shaft 6*10 2
89 [Travel Cam 2
100 [Screw M5*5 2
101 JLock Ring {E Type) E7 1
102 |Washer 1
103 |Screw M5*15 2

104  |Fixed Seat 1
105 §Bearing 698 1
106 |Bearing 693 1
107 _|Bearing 1
108 |Spring 25*3.0 8
109 |[Bearing 51305 1
110 |Bearing 25*25 1
111 JO-Ring P50A 1
112 |Fixed Seat 1
113 |Screw M12*45 4
114 |O-Ring PS0A 1
115 |[Washer 51305 1
116 [Washer 51305 1
117 Gl Seal 25*35*5 1
118 |Worm Wheel 1
119 |Cover 1
120 |Bearing 2526 1
121 {Bearing 51305 1
122 |Spring 25*3.0 6
123 |Screw M12%45 4

33/71




4 ABBREVIATION ILLUSTRATION

S

MC1 and MC2: Electromagnetic contactor.

NFB: No fuse breaker.

C.S.: Control switch.

O.L.: Over load relay.

Duty cycle: Our standard modulating type for OM-1~0OM-8 is 30% duty
cycle and for OM-9~0OM-12 is 50% duty cycle.

The usage for 2 additional limit switches :

Fully-open:

BM-2, OM-2~OM-12 —» Terminal "A” connects to terminal “C”.

OM-1, OM-A —— > Terminal "A” connects to terminal "B".

Fully-closed:

BM-2, OM-2~0OM-12 —» Terminal “D” connects to terminal “F".

OM-1, OM-A ——— Terminal “D” connects to terminal “E”.

34/71



[ OM-1 & OM-A & OM-A-M 12V/24V DC |

Power supply Note:
12vi24V DC (1). "+" connects to 1, "-" connects to 7.
4 o (2). "-" connects to 3 for "OPEN".
(3). "-" connects to 4 for "CLOSE".
:)_ — — I NFB (4). LS - Limit switch.
(5). Using less than 3A current for switches
I "A,B,C.E,F".
cs
s 7
FENY

¥
A

| {dureq)ioeopur uado Ajng

h/
A

i (durehiojenipul asop Ajnd

For customer connecting referenceT

!
U
T

I
[ %

T

|

!
w

T

i

|
HLN

T

i

L
8]

T

l
(o))

T

7tH-+AHBHCH---- Er Fir

T TR

s[RI
o b \o|LS2 c ¢
NO| INC NOp INC LS3 O? LS4 07
QO Q

NC NO NC NO

|

!
A

(option) (option)

uondo) JajesH

——— e — — — — —
—3
}'\
l(.

Fully Open | AtoB

|

|

|

|

|

|

Fully Close | AtoE ‘
@——"7 6/5/4/3]2]1 :
|

|

|

|

|

12Vi24V DC RY2§ RY1%
F

@
LED 1

RY1 [ RY2

O
LED 2

35/71



[ OM-1 & OM-A & OM-A-M 12V/24V AC |

Power supply Note:
12V/24V AC (1). "N" connects to 1, "L" connects to 7.
N L (2). "L" connects to 3 for "OPEN",
(3). "L" connects to 4 for "CLOSE".
- — m‘fg N.E.B (4). LS - Limit switch.
o) (o]
(5). Using less than 3A current for switches
"A,B,C.E,F".
T T Il
cs £ | s
l’" _o_m ] 8 ‘Ol
| | g o
Lo 1% g | 2
Ve B 8
,Q: 2 :O: 2 For customer connecting referenceT
tPE-{1+-43F-44F-45F 16147 F—ABC— Er1Fr
LS1 CSO {ﬁo .82 c c
NQL NC NO L’:\IC 1 LS3 070 LS4 070
% o NG NO NG NO
jg g (option) {option)
T Fully Open | Ato B

12Vi24V DC R‘Qé RY?%
F:

O
LED 1

O
LED 2

|

|

|

|

|

|

Fully Close | AfoE l
@’—’7 6|/5(413[2]1 | :
|

|

|

|

|

36/71



[ OM-1 & OMA & OM-A-M 110V/220V AC 1-PH 30% duty cycle ]

Note: When a set of control wire needs to contro! two or more actuators
at the same time,please refer P.71.

Fully Open | AtoB
Fully Close | AfoE

Power supply Note:
110V/220V AC (1). "N" connects to 1, "L" connects to 7.
1-phase (2). "L" connects to 3 for "OPEN".
N L (3). "L" connects to 4 for "CLOSE".
l (4). LS ~- Limit switch.
0)_ —N.FB (5). Using less than 3A current for
T 7 switches "A,B,C,E,F".
L
s |2 |g
AN
oL I . = B
IR
i );\,( For customer connecting referenceT
r—-PE—— 143 +14+15+46 17 F—4AFBFHCi———EqF ..,._]
i = . - A N . l
} . LS3 070 LS4 |
l |_/ NC NO NC%O I
I = % {option) {option) t
i =l i
| |
| |

37171



[ OM-1 & OM-A & OM-A-M 110V/220V AC 1-PH 75% duty cycle ]

Power supply
110V/220V AC Note:
1-phase (1). "N" connects to 1, "L" connects to 7.

N L (2). "L." connects to 3 for "OPEN".
(3). "L" connects to 4 for "CLOSE".
N — __.,‘33 N.F.B (4). LS -- Limit switch.
o Q
(5). Using less than 3A current for switches
"A,B,C.E,F".
r\CS ;: §
My 1 3 &
| | 5 | ¢
KA ST
o g o g |For customer connecting referenceT
2 E
~PEF{ 1F= 3415167 ~1A[{B{C— EHFr
L. | lc
| — < T T l
l LS1 ‘ﬂo C&‘) LS2 c IC l
noj NG NOL/NC LSSJ Ls4l / |
I I — T by NC Tl_\ifl—_ Nel [No I
e T ,@,w
Il 'é ié {option) {option) :
I A Fully Open | AtoB I
Vo W o o WY 4 3 W
‘ Fully Close | AtoE |
| @T s T5 3121 *
: 24V DC RYZ% RY‘!% II
I Ryt JRy2 O O l
I LEDZ2 LED 1 I
| |
| |
L e — e ]

38/71



[ OM-2 ~ OM-6 12V DC ]

Power supply Note:
12vDC (1). "+" connects to 1, "-" connects to 7.
+ - (2). "-" connects to 3 for "OPEN".
(3). "-" connects to 4 for "CLOSE".
| | (4). LS — Limit switch.
O)‘ — _”0‘3 N.F.B (5). TS -- Torque switch (option).
(6). Using less than 5A current for switches
1 "A,B,C.D,E,F".
cs g 2 |(7). H -- Heater (option).
I s | ¢
o o) 2]z
T N ]
:O\ 2 :O\ 2 |For customer connecting referenceT
ey
rPE-- 1F-413+-44+-45F16+7—1Ar1B1CHDr{Er1F T
—-_i_—- c c c < l
- LS o&) L\ Ls2 LS3 070 LS4 070
NO NC NO NC NC NO NC NO !
e ﬁc (option) (option) !
TS1 go TS2 |
{option)iny 3\ (option)
NGO NC NO INO 1
A Fully Open | AtoC I
Fully Close | Do F
P VN o WY o VY o & W l
! |
[
) |7]6]5]/4[3]2]1 |
12V DC RYZ% RY‘]% i
F |
RY1 JRYZ I
— |
O O I
LED 1 LED 2
. _




[ OM-2 ~ OM-12 24V DC ]

Power supply Note:

24V DC (1). "+" connects to 1, "-" connects to 7.
+ — (2). "-" connects to 3 for "OPEN".
(3). "-" connects to 4 for "CLOSE".
5 L (4). LS -- Limit switch.
O)’ — — D NFB (5). TS -- Torque switch (option).
(6). Using less than 5A current for switches
1 "A,B,C,D,E,F".
oS g g_ (7). H -- Heater (option).
F m()P— 1 8 g-
ool 123
A ﬁ SAY ,i;}:
O 2 O = |For customer connecting referenceT
5 3
rPE~ 1+-43F-44+-45F6F-47 —1AMHBCr1DHEF "
] c c c 1
| Ls1]_ Ls2 LS3 070 LS4 070 l
NO NC NC NO NC NO
| \
1 c c {option) (option) ll
- A A W
l NO [NC !
l S Fully Open | Ato C l
Fully Close | DtoF
! " T WY o WY o & WY | W l
| a |
| 7 5]4]3]2]1 |
| 24V DC sz% RY1§ [
F
| |
i RY1 /RY2 l
| — |
| O O
LED 1 LED 2 ]
L _

40/71



[ OM-2 ~ OM-6 12V AC ]

Note:

Power supply (1). "N" connects to 1, "L" connects to 7.

12V AC
(2). "L" connects to 3 for "OPEN".
N L (3). "L" connects to 4 for "CLOSE".
<L (4). LS -~ Limit switch.
0)_ o 9 NEB (5). TS -- Torque switch (option).
Q ? (6). Using less than 5A current for switches
"A,B,C,D.EF".
M
Z Ry (7). H -~ Heater (option).
cs g | 8
& % %
BRIREING NS
9o Y& X{=2 For customer connecting referencej
3 g
HPEF41 341516 ——171AFMBMC1P1EMFI
L e lc lc lc
- LS1 (ﬁo OQO LS2 L83 jo LS4 0?0
Nno[ Inc Nop INc | NG| INO NG| [NO
TS g C. 182 (option) {option})
AN AT
\S’NO NC NO NC§
Fuilly Open | AtoC
T Fully Close | DtoF
A

i
7165|4132 ]1

12V DC sz% RY1%
F

|
|
|
|
|
|
|
N I
|
|
|
|
|
|
|

Ryt /Ry2
L
O O
I e U |

41/71



[ OM-2 ~ OM-12 24V AC ]

Note:
p°‘§§\'}i‘épp'y (1). "N" connects to 1, "L" connects to 7.
(2). "L" connects to 3 for "OPEN".
N L (3). "L" connects to 4 for "CLOSE".
(4). LS -~ Limit switch.
oN _ _° (5). TS -- Torque switch (option).
- - N.FB ,
? 7 (6). Using less than 5A current for switches
"A,B,C,D,E,F".
T T Z (7). H -- Heater (option).
cs § | ¢
76 % %
| | AN
L 5] :O: 2 :(1 2 For customer connecting reference
3 g - '
rmPE—— 1+-—3+44+-5F-6———7-Ar1BrCr1DHE F“"}
L lc ic lc lc
T el ; '
- EUR b \o|L52 Lss| / Ls4 /
| NOf INC No| e NC [nNO Nel  [No 1
| e s . . |
51 TS? {option) (option)
| 3 ) |
i g NOCKONC NC? NC gt i
| f i) T Fully Open | Ato G |
l : : 7. Fully Close | Dto F l
I ST\ Fg ) W l
| — r“"H““] |
| |
M) |7|6]514(132]1
| 24V DC rRyz L Ryt l
| " —}——ﬂ |
| RY1 /Ryz E
| NI |
| 0 0 |
LED 1 LED 2
. e _



[ BM-2, OM-2~OM~12 110V/220V AC 1-PH 30% duty cycle ]

Note: When a set of control wire needs to control two or more actuators
at the same time,please refer P.71.

{uoydo}

Fully Open | AtoC

C
@wwzzov AC Fully Close | Dto F

ACTUATOR |

Power supply Note:
110V/220V AC (1). "N" connects to 1, "L" connects o 7.
{1-phase (2). "L" connects to 3 for "OPEN".
N L (3). "L" connects to 4 for "CLOSE".
(4). LS -- Limit switch.
| s (5). TS -- Torque switch (option).
0)— — 09 N.F.B (6). Using less than 5A current for
switches "A,B,C,D,E,F".
D (7). BM-2 could not install torque switches.
T al
cs_ |& |E
B (/ 1 |18 |3
L/ ol |53 |z
oL [~ §": §
BN
T T :(l): p: For customer connecting referenceT
~pet41+43+14+{5+146 47 +—4AF{BFCHDF-E}- F-—I
- C G I
= LS1 Ls2 < 2
No0 NG No<> NG LS3 07 o LS4 (-7 ol 1
4k NG NG NC NO [
G c L F l
'|:§1 ogo ogo TS2 g % (opticn) (option)
T NG NG NOTNC 8 t
3 g |
|
|

43/71



N

[ BM-2, OM-2 ~ OM-12 220V/380V/440V 3-PH ]

Note: BM-2 could not install torque switches.

0)‘— f— N.F.B

()

OPEN CLOSE
Q 0

¥

Power supply

220V/380V/440V
3-phase
R S T

D)

T

)

T

N.F.B

T

220V|380V 440V

_Mcz-a

g

™y
7

]

_IMC2a _{MC2-a |MC1-a_

T

|

™
VG- _me-a

MC1-h" [MC2b

T For customer connecting referenceT
{1 RoF{eF 5 Hol T vl A e} e oHeH e Hof-fof-
| S NCi NONC| NO ;__33T TLS‘% ]

—— T§‘I e OT§2 T c c %‘
R B 78 |
] 2 =3 M NClNO NGT NO l
| N(‘IJ NO NG| |NO HEATER I
l LS1 Oéu LS2 Fully Open | Ato C (option) |
| @ G Fully Close | Dto F |
| |
| ACTUATOR |
L _J

44/71



[ OM-1 & OM-A & OM-A-M 12V/24V DC / Modulating Service ]

S1~88

2 3 6 &6 7 8

AAREHH)

' 'Dip Switch please vk2
refer to page 9 for
setting

ON

allli

VR1

Sensttivity Switch
getting is position
# 3 for factory

Signal Cutput

Signal Input

Power supply
12V/24VDC

3 Heater
PR X

VRE2 Yelow Lamp

O {Power Aght)

jot jof

Green Lgmf Red Lamp
{Open indicator} {Closed indicalor)

RN Ll il B S R

switches "A,B,C,E,F".

Fully Open | Alo B
Fully Close | Ao E

3 Go-ol. @
o =
o
B S ¢]
2 ool @
m 2
<
5 § (Nﬁtfe: t Signal
= nput Signai :
2 [ 31| 8 4-20mA
c Q o -
Q Torg— 3 2-10V
= B (2) Output Signal
© A 5 4-20mA
£ —2 |3 2-10V
§ ™~ g - (3) Using less than 3A current for
o
| .
o
] &

45/71



[ OM-1 & OM-A & OM-A-M 12V/24V AC / Modulating Service ]

S1~88

ABRAAA]

5 6 7 8

Signal Output

Signal Input

Al

+

Power supply L
12Vi24VAC N

TFor customer connecting reference

—— elelnh——————————— |-~ -] |- ===~

—

[ ] vri
5K —
12
11
7
6
S }Heat
er
4
2
12V/24V DC @
1
—T ] I):
: Green Lam
o
O/O- z o
o
Qlo 9
-
g l
[ R
O)- 0
Clo -
Z
=
h=]
Q [=3
I = l =)
O O <
O\G 0
5y o
h = .
j
G
s
ST [=%
2 o\g" %
[3)
Z
Fully Open | Ato B
Fully Close | AtoE

46/71

F Red Lamp
{Open indicator} (Closed indicator)

VR2

Dip Switch please
refer to page 9 for
setting

SW1~
SW0

Sensitivity Switch
setting is position
# 3 for factory

jot

Yellow Lamp
{Powar fght)

[ el
VRS51

VR52

O

o

Note:

1} Input Signal :
( )4~2%mAg
1-5V
2-10V
2) Output Signal :
( )4-20%1A 9
2-10V

(3) Using less than 3A current for
switches "A,B,C E,F".



[ OM-1 & OM-A & OM-A-M 110V/220V AC / Modulating Service ]

Signal Output

Signal Input

Power supply
110v/220V AC

TFor customer connecting reference

Fully Open | AfoB
Fully Close | AtoE

47171

switches "A,B,C.E,F".

[
| 51~38
I G?N 2 3 4 5 6§ 7 8§
| HHOHHAH
| it
l | VR Dip Switch please VRz
1 refer to page 9 for
i SKn - setfting
<§ , 12 Sensitivity Switch
‘ | 11 setting is position
<g i 7 # 3 for factory
- 6
H
L 5
] Heater
N 4 3
| ) . 33%.
@O e
| - O
et TN .
| -1 X X
I rormrerrerererreeereeed Green Lgmf Red L_am|p
1 = (Open Indicator) {Closed indicator)
| 2
| A OT™ §
| Ve T
| g
I o O);-m %
=] ot
| 2
- — Note:
F S (1) Input Signal :
=1 ] gl | & 4-20mA
E] PG I 1-5V
C o g - 2-10V
e 5 (2) Output Signal :
B M 8 4-20mA
— L 2-10V
A 2 o~ @ .
(3) Using less than 3A current for
-
l
|
|



[ OM-2 ~ OM-6 12V/24V DC / Modulating Service ]

TFor customer connecting reference

Power supply
12V/24V DC [= ]

Signal Input

(We suggest that

you use the shielding
wire and please
don't exceed 30m.)

Signal Output
gl

oo e T T T T T T e e e e e [ S R
| !
[ Fotentiometer |
| |
| i
1 . |
i L8t 1]2]3]4]5]6|7]8foli0l11)12] |
| NG| He |
l TS1 2 F |
| (option) |
| NO NG I
| Modulating Controller |
1 — ( Electronic Board ) |
; STt Y ;
E 3 WRIUUIY o ) SR o b VO E
| I F LM |
| 716][51413]2]1 |
12V/24V DG m}f RY1+

| F |
1 Note: |
] ryi fryz {1) Input Signal . 1
l 3 4-20mA |
I LED1 tED2 2,_1 OV [
] |ale]c|p|E}F] (2) Output Signal : |
| 4-20mA, I
| i i 2-10V |
| FultyOpen [ A% G 1 (3) Using less than 5A current for |
| wo o o Fuly Close} D1oF switches "A,B,C.D,E,F". |
| Ls3 i |

{optiony LS4 (option)
L o o e J

48/71



[OM-2 ~ OM-12 24V DC / Modulating Service ]

- {We suggest that
Power supply DSignal Input you use the shielding
. wire and please
24V DC E] don't exceed 30m.)
Signal Output
jFor customer connecting reference .
e e - YT T
| |
| Potentiomster |
| |
| |
i |
1 1]2]3T4]s][e[7]8]9]io]1112 |
l |
I |
| F |
| I
E Modulating Controller |
| rj\ { Electronic Board ) t
} 3 WU o & WY o ) W ;
| M }
1 5141312]1 !
RY2 A RY1
E + + Note: {
; a1 fRyz (1) Input Signai . t
l X 4-20mA E
] LED 1 LED 2 2_10\/ ]
[ IA|B|C!D|ElFl (2) Cutput Signal l
i 4-20mA l
; R 2-10V |
] Fully Open | A0S | (3) Using less than 5A current for |
I nel ol IneRo Fuly Close j Do F switches "A,B,C,D,E,F“- l
L L3 (option) LS4 (option) "j

49/71



[ OM-2 ~ OM-6 12V/24V AC / Modulating Service ]

Power supply ————E:ISEQnai Input ()IIIA?J iii%ﬁj éz?étding
12V124 AC Gt xceed 30m)
Signal Cutput
TFor customer connecting reference | .4
Foo T T T T T I
Potentiometer

(Cr

1]2]3]4]5]s]7[8]e10]11]t2

o

Modulating Controller
{ Electronic Board )

|
|
I
|
|
I
|
E
i
I
I
|
I
I
|
I
|
|

12v24v DG} Q. ‘mé “‘”g) Note:

(1) Input Signai :
Rt RY2 4-20mA
he 1-5V
> o 2-10V
Len LED2 (2) Output Signal :

[ale]c[p]E][F] 4-20mA

210V

o o Fuly oper | Atoc | (3) Using less than 5A current for
Fully Close | Dto F switches "A,B,C,D,E,F".

183 (option) 154 (option)

50/71



[ OM-2 ~ OM-12 24V AC / Modulating Service ]

(We suggest that

Power supply B you use the shielding
Signal Input i and please

24V AC don't exceed 30m.)

Signal Output

j{—'or customer connecting reference EE'

r- - T I S B

{Potentiometer

LSt 1]2]3l4]5]6]7]8]9]10]11]12

81
oplion}
NO

Modulating Controller
{ Electronic Board )

H
7[615]41312]1

24vDC| Q¢ m% R\”f} Note:

{1} Input Signal :

|
|
|
I
I
i
|
|
I
I
|
|
|
I
| [
|
|
I
|
I
|
I
I
|
|
I
|
I

RY1 jRY2 4-20mA
S 1-8v
o o 2-10V
Lent tenz (2) Output Signal :
NECEEE 4-20mA
2-10V
d E Fullyopen | Ao | (3} Using less than 5A current for
Fully Close | Do F switches "A,B,C,D,E,F".
Ls3 LS4
b e e e J

51/71



[ OM-2 ~ OM-8 110V/220V AC 1-PH / Modulating Service
30% Duty Cycle ]

= {We suggest that
Power supply U.__} D ) you use the shielding
Signal Input

wire and please
110V/220V AC . don't exceed 30m.)
Signal Output

=]

TFor customer connecting reference

-7 - ]

Potentiometer

|
|
|
| 1
AlBl1|2]3|4|5|6|7]|8]9][10{11]12 l

LS Ls2
o Ly L ] |
TS1 T2 (opton F :
3 ) l
Modulating Controller |
( Electronic Board ) |
|
110V/220V AC |
l
|
1
AlB[C|D[E|F Note: |
(1) Input Signal : |
c . 4-20mA |
1-5V |
NC NO NC NO 2"10\/ i
(2) Output Signal : |
— - 4-20mA |
1.53 (option) L84 {option} 210V l
Fully Open | A0 C (3),Using less than 5A current for switches |
Fully Close § DtoF A,B,C,DEF". |
L o _

52171



[ OM-2 ~ OM-8 110V/220V AC 1-PH / Modulating

Service 75% Duty Cycle ]

Power supply
110v/220v AC [N}

Signal Input

{We suggest that

you use the shielding
wire and please
don't exceed 30m.)

Signal Quiput

jFor customer connecting reference

=

L51

TS1
(option)

Potentiometer

™
|
I
|

1[2]3]4]5[6]7]8]9]t0[11]12

|0/M480V DT

[
M [T ]

[413]2]1

o) 1
LED 1

o]
LED 2

[aje]c]ple]F]

NG NG ]

~O O
F

Modulating Confrolter
( Electronic Board )

Fully Open

AloC

Fully Close

DwF

NG

|
I
|
I
I
|
|
|
I
I
!
|
I
I
|
|
|
I
|
|
|
|
i
|
|
I
|
|
|
!

LS3 (option)

.54 (opfion)

53/71

Note:

{1) Input Signal :
4-20mA
1-5V
2-10V

{2} Output Signal :
4-20mA
2-10V

(3) Using less than 5A current for

switches "A,B,C,D,E,F".

|
I
|
|
I
|
|
I
|
!
I
|
|
|
I
|
|
I
I
I
I
|
|
|
I
|
I



[ OM-2~OM-8 110V/220V AC 1-PH / ON-OFF
Service 75% duty cycie ]

Power supply

110V/220V AC
1 - phase

N L

Note:

(1). "N" connects to 1, "L" connects to 7.
(2). "L" connects to 3 for "OPEN".

(3). "L" connects to 4 for "CLOSE".

I\ S (4). LS ~- Limit switch.
o)‘ — ““(;9 Disconnect (5). TS -- Torque switch (option).
(6). Using less than 5A current for switches
A "A,B,C,D,E,F".
cs Z g | (7). H-- Heater (option).
I 2 B - O
o.L L= - 2 2
Sa= Sl S Sot.
- n :O: = :Oi 2 |For customer connecting reference
- f-F e 1%
{-mw—PE—— 13-4 -5F-6F-7 - AHBMCHDrEM F——]
—_ lc o
| ) LS1 i’ L82 3 3 |
} NO0 NG NOO NC Ls3 07 Q Ls4 O? ] !
I A NG O ncl INO !
TS1 [ S Ts2 (option) (option)
| AN IAR |
i S NG NG NO NG § |
= = Fully Open | AtoC
1 dk Fully Close | DioF l
{ T WY o, VY ¢ ) W :
igamsov DC —__—__i—‘—| er I
211 |
|
|
l
|

54/71




[ OM-9 ~ OM-12 110V AC 1-PH / Modulating Service 50% Duty Cycle ]

(We suggest that
Power supply [:l ] you use the shielding
Signal Input wire and please
110V AC [l-__\l] don't exceed 30m.)
Signal Output

L — +
TFor customer connecting reference
T T AR I B
l Potentiometer| ;
| .
I ]
I 1
I |
[ LSt 1]2]3]4]5]6]7]8]9]|t0}11]12 ,
[ NO| NC NO[ NG |
| 81 F |
I {option) l
! " |
] el Modulating Controller |
| ( Electronic Board } I
| g Py /] E
| i
BBl |
{M 7161514]3]2]1 i

m% walf Note:
| sove | of {1) Input Signal : [
| o Tee 4-20mA '
i - 1-5V :
; 2-10V

| D1 - |
l (2) Cutput Signat : !
l [als]c[ofE[F] 4-20mA |
| 2-10V i
| o o v (3) Using less than 5A current for |
i Fuly Open | 22 switches "A,B,C,D,E,F". |

Fully Close { Dto F ;
t NG| Xl g NG
i L83 {option) L34 {option) ]
b o o e i

55/71



[ OM-9 ~ OM-12 220V AC 1-PH / Modulating Service 50% Duty Cycle ]

(We suggest that

Power supply [El you use the shielding

ignal Input .
aovrc [— | | [ et
Signal Output
T‘For customer connecting reference o | -
T — B
Potentiometer

81 1]2]3]4]s]6]7]8]9]10]11]12

F

Modulating Controller
{ Electronic Board )

| [~Hm-| Note:
:!::::3‘ | f4]3]2]1 (1) Input Signal :
= 4-20mA
ﬂ 1-Bv
o © 2-10V
{2) Output Signal :
2, 4-20mA
2-10vV

[A]BjcIp|E]F] (3) Using less than 5A current for
switches "A,B,C.DE,F".

i c Fully Open | Ato C
Fully Close | BtoF

Y= e ] {73

183 {optiors) 184 (option)

56/71



[ OM-2~OM-12 110V/220V AC 1-PH / ON/OFF Service

Local/Remote Selection Switch]

o Power supply
— 1 110V/220V AC

2. S2 is for Open/Stop/Close select

....|
(uon,do)%
=0

(uon;do)@
O

3. CS is Remote control swiich.

b b 1 b
g l3 ! 2
He s C OFS
] 2 Q
|2 110Vi220V AC|  §

[ | O O
| o |
Ly 1
Open | Close For customer connecting referencei
FPEF1 31456177 AriBr1Cr1DFHEF
I 7] I |
{ — 81 c o i
Local Remote
| \T LS3 070 LS4 070 |
| } } NC NO NC NO l
82
I I
| Close Open {option) (option) |
| 0 O] I
I Py Fully Open | Ao C |
! C G Fully Close | DioF l
| 152 o? LS 07 . I
| NG| ONO NG Onso =8 |
| A é’g‘ Note: I
| o o S 1. 81 is for Local/Remote select |
I I
I |
| I
I I
I I
| I
-

57/71



[ OM-9 ~ OM-12 110V AC 1-PH / ON-OFF Service 50% duty cycle ]

Note:
po";’?é\? i}]\;():ply (1). "N" connects to 1, "L" connects {o 7.
(2). "L" connects to 3 for "OPEN".
(3). "L" connects to 4 for "CLOSE".
(4). LS -- Limit switch.
)_ — =N NEB (6). TS -- Torque switch (option).
? ? {6). Using less than 5A current for switches
"A,B,C,D.E,F".
T 5 (7). H - Heater (option).
% For customer connecting referenci
=

Fully Qpen | AtoC
FullyClose | DioF

M
aov DC
RY1 ry2
-
O O
. L= = J |

58/71



[ OM-9~OM-12 220V AC 1-PH / ON-OFF Service 50% duty cycie ]

Power supply
220V AC Note:
1 - phase (1). "N" connects to 1, “L" connects to 7.
N (2). "L" connects to 3 for "OPEN".
(3). "L" connects to 4 for "CLOSE".

! (4). LS -~ Limit switch.
)~ — —)Disconnect  (5), TS - Torque switch (option).

T (6). Using less than 5A current for switches
"A,B,C,D,E,F".
cs 2 g | (7). H -~ Heater (option).
IVANEEE RN
oL Ly~ - = 2
LR e
L_Ew N i T £ |For customer connecting referenceT
3 3 S ,
rm-——-PE—~EI}"3—— ~{6F-7}-aHBHc pHE 1F
—_ G
| = C 1
L&1
| Noo NC NUCKO Ls3 070 l
I NC NO I
T
| it 3 { TS2 (option) |
I % NoThe N0 }g:: [
= = Fully Open | AtoC
! T Fully Close | Do F !
I P SV o WS 3 T :
180V DC I
l o1 Ly |
4131211
| = |
| F2 D |
| o' |
| LDt I
| D2 |

59/71



[ OM-2~OM-8 110V/220V AC 1-PH / Modulating Service /

Local/Remote Selection Switch ]

.
4~20mA IB—L 7 |
Input Signal E_I,_—g“ |
Power supply o——l— 5 '
110V/220V AC o—{7] 4 L —emoto o {
T Local
1 ] T Swltc?h TR Open l
| Switch (2) Potentiometer |
° Signal Qutput
| T ? ) ] -1+
l C C R4 RY1 I
| | L8t Cx? LS2 a [
] NG| Mo NG EE i]2]3[a]s[6[7]8]9]10]11]12 l
| S o 2 |
I | § 13 Modulating Controller !
i ! 3 (;7 o s Q? o ( Electronic Board ) l
NG| No NC[ RO
) ! l i {
Q)
c
o l l @9 KBI 110V/220V AG }:@ 3@1 |
Q I Lamp Lamp Larap
"‘a‘s i {open) {close} |{powsr} I
of | |
g>l A Note:
"'3 f__ g 1. Using less than 5A current forswitches "A.B,C.D.EF". I
g l E —-———-ﬂ ‘§ 2. When you select the remote control , you need to contro I
c 1 D o[ o g the actuator by signal (4-20mA or 2-10V or 1-5V). |
8 ] ™~ S - 3. When you select the local control, you need to control the |
o i E_ﬂ = T actuator by switch (2).
< B 1% 4. Input Signal: 4~20mA, 210V, 1-5V l
2 1 Ao (}jz 2 5. Output Signal: 4-20mA, 2~10V 1
-3 “~ - 8. Input Signal: We suggest that you use the shielding wire
3| T 2 |
o and please don't exceed 30m.
LE ! ‘ Fully Open | Ao C I
Fully Close | DtoF
ﬁ | e _

60/71



[ OM-2~OM-8 110V/220V AC 1-PH / Modulating Service /
Local/Remote Selection Switch 75% duty cycle ]

al{7]
4~20mA 7
Input Signal ""6‘
Power suppEyo——J- 5
] Remote
110V/220V AC 0—H 4 oF ctose
— ] ?Local . o
u Switch {1} Ogen .
Bwitch (2) Potentiometer
h Signal Output
3 h, o — +
A R - -
c c ? ]
‘*3%&7 (»,KQLSZ AlBl1l2]3]4[5]6 789 ]10][11]12
NOE NG NO 11\13
Tgi c T%? c Modulating Controller
2 07 s { Electronic Board )
R O = o
nGl RO e
P M,

@
O
5 1716164132111
S H
IR Glel B
9_) Lamp 90i180VDC Lamp Lamp
o {open) (close) | (power)
=
o]
8 = Note:
g £ 1. Using less than 5A current foswitches "A,B,C.D,E,F".
8 o o E: l ;o' 2. When you select the remote control , you need to control
< A the actuator by signal (4-20mA or 2-10V or 1-6V).
GJ o]
£ = = 3. When you select the lacal control, you need to control the
) *gi actuator by switch (2).
g 0% ‘ - 4, Input Signal: 4~20mA, 2-10V, 1-5V
o i 5. Qutput Signal: 4-20mA, 2~10V
5 Z 8. Input Signal: We suggest that you use the shielding wire
2

|
1
|
|
|
|
I
|
|
l
l
|
|
|
|
|
|
1
|
|
|
|
|
|
I
l
|
|
I

——BIelolelma ————————————]

Fuliy Open | At G and please don't exceed 30m.
Fully Close § Do F

FAN

61/71



[ OM-9~OM-12 110V AC 1-PH / Modulating Service / Local/Remote Selection Switch ]

w7
4~20mA 7
Input Signat E—L—g
Power supp!yo——l— 5
e Remote
110V AC o—H 4 &F Clocs
T 1 Q Local o
| Switch (1) Open
Switch (2) Potentiometer
ik f:_—,L Signal Output
) ™ I 'y — .,!..
f: :‘ RYL Y1
c ¢ ' T__
LS%&; c&m ATBT 21345617189 10[11]32
___NGIING NG LN_C
Tg' [ T%2 I Modulating Controfier
% V? % { Electronic Board )
Ao 2
N N
ca

0 fIe]5l4l312118

oxﬁ L o
Lamp Lamp Lamp
(open) (cloge) | (power)

- Note:
% 1. Using less than 5A current forswitches "A,B,C,D,E,F".
I 2 I ;% 2. When you select the remote control , you need to control
o ~ 9 the actuator by signal (4-20mA or 2-10V or 1-5V).
= = 3. When you select the local control, you need fo control the
% actuator by switch (2).
512 i = 4. Input Signal: 4~20mA, 2-10V, 1-5Y
= % _ 4 5. Qutput Signal: 4-20mA, 2~10V
Z 8. Input Signal: We suggest that you use the shielding wire

|
|
|
|
|
l
|
|
|
|
|
l
. ) l
Cl NO \._r\_..,.....&.f'\.... NO {
|
|
|
I
l
|
|
|
|
|
!
l
|
|

— Glelolom[a————————————]

For customer connecting reference

Fully Open § A6 C and please don't exceed 30m.
Fuliy Close | Do F

FaN

62/71



[ OM-9~OM-12 220V AC 1-PH / Modulating Service / Local/Remote Selection Switch ]

Note:

1, Using less than 5A current forswitches "A,B.C,D,EF".
o6 g l 2. When you select the remote control , you need to control
O - the sctuator by signal (4-20mA or 2-10V or 1-6V).
=

3. When you select the local control, you need to control the
actuator by switch (2).

4. [nput Signat: 4~20mA, 2-10V, 1-5V

5. Qutput Signal: 4-20mA, 2~10V

6. Input Signal: We suggest that you use the shielding wire

Fuly Open | A0 © and please dort't exceed 30m.
Fully Closs { D F

153 (option} LS4 (option)

—Glelelolma————————————-

alf7 |
4~20mA 7
Input Signal 6 Il
Power supply O-LE l
220V AC o—H 4] &Remore s |
1 ? Locat o
l - SwHeh {1} Open I
Switch Z) Polentiometer I
I } T Signal 2uiput I
L [T :: ' - |
I . "c " - ?i |
] LSH&; o%"sz ATB] 12]3]41516]17189t0[11]12] |
NO1 " Jhe NO EIE . ‘
I T%" C T%Z I Modulating Controlier
S Q? E ( Electronic Board ) l
I 290 200 l
& mr,l NO v \..........2‘.(3 [ o %
|
| Y I FARIEEET E
| @% - |
amp  180VDC Lamp tamp
l {open; (close} | (power) ‘
| |
| |
| |
| |
| |
| I
l
I

i:or customer connecting reference

63/71



[ OM-2~OM-12 110V/220V AC 1-PH / ON/OFF Service /
Local/Remote Selection Switch / 4-20mA Output Signal]

cs Power supply
=" 110V/220V AC
| | o 0
I I
LY
Open | Close For customer connecting referencei
~fpeF{1 3456171819 1A[1B[{C[|P[1E[1F[ ™
== - |
— st
o b C c
: Local Remote L83 O?O 184 070 :
l A Py NC NO NC NO ]
| 52 |
| Close Open (option) {option) |
l e @] O - I
! Py & Fully Open | AtoC i
i C C g Fully Close | Do F !
LS S1 g
| /] wlrd |8 |
NG C MO =
| I\ = = R |
I C C I
| TS2 TS1 — |
| $ /0 8o |
I EN{' NO -.‘:"/NC NO % i
& B il b
| @i"’% 2 c o 3 (option) — l
8" -r% 3 % . +
: £ mﬂwm H R13 adjusts 20mA 1
| . , ~y
| R14 adjusts 4mA N |
| Note: |
| 1.81is for Local/Remote select *If the control power is 220VAC, N & L connect fo #1& #3 . |
: 2. 82 is for Open/Stop/Close select  *if the control power is 110VAC, N & L connect to #1& #2 i
| 3. C8 is Remote control switch. or #2 & #3. |
| I
L e e e i

64/71




[ OM-2~OM-12 220V/380V/440V 3-PH / ON/OFF Service
/ Local/Remote Selection Switch ]

Power supply W | I
220V/380V o1V Iﬁ 1 g‘ | et ] % M |
1440V 3-PH U | }MC?-a l
‘ WL |
220V|380V [440V 110V Hfater (option) 1
I EE 0)Remote I
T s
il Close
l Phase reversal relay contact I Local O I
I Switch (1) Open !
Switch (2} A I
Switch (3
( ) o 4 4 l
3 T
1 Py T . T I
! C C :
F _ LS1 Ko LS2 Ko
c 0 o }
S Nof NG )
e = | L |
DlL-2 O < C c
o~ . 4 TS1 07 T2 l
C = = g o} =1 0
®© £ g NC| NO g NCI NO i
Q- S
8 B g ° MC2-b MG1-b I
O [y ’ N\ N
o Al | ©f ® |
L I o L L
L Z amp armp Lamp
(O] {open} {close) {power) I
b Fully Open | Ato G
(@)) Fully Close | Do F I
&
= Note: I
g 1. Please change two of U, V and W when the power lamp is off. 1
- 2. Switch (3) is installed by customer
Q for Remote control. |
&
5 3. Using less than 5A current for switches l
& "A,B,C,DEF". l
_8 4. Switch (3) is the switch of remote control (Be provided by user).
@ (1) Connecting #1 and #3 is for OPEN. i
2 (2) Connecting #1 and #4 is for CLOSED. l
o (3) #1 an #3 and #4 can't connect together at the same time. _l
]U- L o —— e



[ OM-2 ~ OM-12 220V/380V/440V 3-PH / Modulating Service ]

Power supply w L \!
220V/380V \Y;
440V 3PH = [
Fo0go]

HHE
o T IR IR IR
g b |d
3 W |
3 U

ESES
R )
- —
o il
-
S -

! l m[ E Signal Input l
110V ; ".’*‘ {We suggest that
220|380V {440V [ mHeater(op’ﬂon) you use the shielding |
| I——-r Z  [remos wire and please
| = Close don't exceed 30m.) ]
! Phase reversal relay contagt 4, nLocai O
I 3witchNZ1) 0—6925'.'_.,..“____ Potentiometer ‘
l ! Switch (2) Signal Output !
L L L L - 1+
T T |
| 5 S 1
| 1
| C . 7 |
| l 112]34]s]el7]8]oft0]11]12 l
| LS1 OQQ OQO 152 l I !
l NO Ef NG| [NG F
I I o c | Modulating Controlier l
| TS1 152 ( Electronic Board } !
| g /o | g I
[4}) I g NG| NO 2 NC| MO !
‘é I I = M2 =~ MC1-b I
) 5 ,
5 | @ G o ® X |
S iamp Lam L
j4b; ] amp
btk I l {open} (closs) {power} l
E’ Note: l
"8 1 F T 1. Please change two of U, V and W when the power lamp is off. I
g I E ——““‘:g:' gf 2. Using less than 5A current for switches "A,B,C,D,E,F". ‘
8 l D -2 o\g § 3. When you select the remote controi , you need to control the !
o [C 9 N actuator by signal. (4-20mA or 2-10V or 1-5V) i
g i B é 4. When you select the local control, you need to control the
o I e Q | :‘f’; actuator by switch (2). I
2HA o~ 5. Input Signal: 4~20mA, 2-10V, 1-5V 1
S 1 2 6. Output Signal: 4-20mA, 2~10V l
uc-)- i Fully Opan | AtoC l

Fully Close | DieF

66/71



[ OM-2~0OM-12 220V/380V/440V 3-PH / ON/OFF Service /
Local/Remote Selection Switch / 4-20mA Output Signal 30% duty cycle ]

I | (MC2-a
l i IMCZ-a
| ==y
Power supply w | pete
220V/380V ;‘I_E l(‘ 1 % | pete
1440V 3-PH ol | et

Phase reversal relay conlact

Fully Open | AteC

l ! (13
220VI380V [440V 110V Heater (option)
1 [ = Remote
| | | b o
Phase reversal relay contact e

i Swilch {1) Open

| Bwitch (2) A
Switch (3) 4 Jy

3 /M

1 M. P Y S Pt
| e c o]
| F —_ LS1 Ko LS2 go R13

£ e | o
| E ““‘_:6] k=4 Nol [Nc Nol ™ [N

=

DLe ey = 3 g o]
1 o~ - et TS1 07 TS2 07

C z = % o g o R14

] e & NCT No & nNel NO .
' 8 B 2 zZ Lamp “”3 @

i e] i 2 MC2+b MGt (power}

%) On 3
N 7w

I A ™~ 3 = IGI :(@Z KOI *R13 adjusts 20mA (\+

T = L.amp Lamp .

(open) {close}
i +

P
*R14 adjusts 4mA
Fully Close | Dto F j g

|
I (option}

Note:
1 1. Please change two of U, V and W when the power lamp is off.
2. Switch (3) is installed by customer
for Remote control.
3. Using tess than BA current for switches
"AB.CDEF"
4. Switch {3) is the switch of remote controt {Be provided by user).
{1) Connecting #1 and #3 is for OPEN,

{2) Connecting #1 and #4 is for CLOSED.
{3) #1 an #3 and #4 can't connect together at the same time.

or customer connecting reference

|

67/71



[ OM-1 & OM-A & OM-A-M 110V/220V AC 1-PH / 4-20mA Output Signal ]

For customer connecting referenceT

T °{7Hm}mﬂﬂc}m

NGE  [NO NC

Power supply
110V/220V AC Note:
1-phase (1). "N" connects to 1, "L." connects to 7.
{2). "L" connects to 3 for "OPEN".
(3). "L" connects to 4 for "CLOSE".
& O (4). LS - Limit switch.
— e -) Disconnect . \
(5). Using less than 5A current for switches
"AB,C,D,E,F".
g g
g | g 4-20mA
%- % output signal
A

il

o (option) {option}

A
|

Fully Open | AtoB
FullyClose | DtoF

{uondo) JateaH

110V/220V AC ®§§ R13

R14

=
(option)

*R13 adjusts 20mA "

*R14 adjusts 4mA 2+

686/71



[ OM-2~OM-12 110V/220V AC 1-PH / 4-20mA Output Signal ]

Power supply
110V/220V AC Note:
1-phase (1). "N" connects to 1, "L" connecis to 7.
(2). "L" connects to 3 for "OPEN".
(3). "L" connects to 4 for "CLOSE".
)__ — — Disconnect (4). LS -- Limit switch.
o (5). TS -~ Torque switch (option).
(8). Using less than 5A current for switches
- . "A,B,C,D,E,F".
E R 4-20mA
% é; output signal
% % T For customer connecting referenceT
2 2

~
=]
T3
L2}

{option) (option)

Fully Open | AtoC
FuliyClese | DtoF

(uondo) 193E0H
|
NN

HOVI220V AC

R14
i3
1)
“If the control power is 220VAC, N & L connect to #18 #3 . (option)
* . i "I
*H the control power is 110VAC, N & L connect to #1& #2 R13 adjusts 20mA
or #2 & #3. —
“ . +
R14 adjusts 4mA P
b o e e —— e 1

69/71



i

[BM-2, OM-2~12 220V/380V/440V 3-PH / 4-20 mA Output Signal]

Power supply
220V/380V/I440V
3-phase

R 8 T

DD D

IR 4 \ W

220V|380V 440V

iMC2a |MC2-a _jMC2-a [MCha_{MCha | MGi-a

mS=N

4~20mA HOVI220V AC
QUTPUT INPUT
Forlcustomer connecting reference ! ‘]" ? ?

{T}DT
e

=
= R14
8

{optlon}

!:
Fully Open | AtoC !

Fully Close | Dto F

e s e L Lt A ]

{option)
| *R13 adjusts 20mA 7+
' ACTUATOR

*R14 adjusts 4mA T *

If the contral power is 220VAC, N & L connect to #1843 .
¥ the control powar &5 1$0VAC, N & L connact to #1& #2
or #2 & #3.

!________
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
—

70/71



[ OM-1~OM-12, BM-2 & OM-A & OM-A-M 110V/220V AC
Same Switch Coupling Wiring ]

3 sets of motor vale for one switch-

2 sets is open and 1 sef close wiring Full dlose lamp | 7
(1f more sets, the rest can be done by this way.) 6
Ca Fult open lamp o
— close 4
....__......._f\__.’ /}.__/\
open 3
Cb 1
Fulf close lamp 7
6
Ci{ Full open lamp 5
Add 1 pc contactor for separation M~T lose 4
to prevent from interference of condensel E Ir P 3
coupling. Ca open 1
C1=3a3b contactor
close Full close lamp 7
6
L QO
. O 1 Cbl 1 Full open lamp 5
110V/220V AC open 4 e L
Single phase [ L—rh 3
ca | open
[N] 1

71/71





